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Choose the correct answer and write it on the answer sheet on page 2

1. The prime number in the following list 15,12,19,121 is
a) 12 b) 15
c) 19 d) 121

1

4 -2 6 2
2. The simplification of the expression (16x y "z ) =
4x2 y3

Z

a) 4x%y73 b)

4x2 Z3
y

c) d) 8x8 y4 z12

3
3.4 3
3. The simplification of [uJ =

Kt p
a) 6k wh? p9 b) 8k wl? P6
12 12
0 8w p6 d) 2w p3
K3 k>

4. The expansion of (2m+3)(4m—5) is
a) 8mZ +2m—15 b) 8m2—2m—15

¢) 8m? +22m—15 d) 8m% -22m—15

5. The factorization of x2 —-5x-24 1is
a) (x+8)(x—3) b) (x+8)(x+3)

¢) (x=8)(x-3) d) (x=8)(x+3)
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The factorization of 6 y2 +5y—-4=
a) 2y+D@By+4) b) 2y-D@By+4)
¢ 2y+Dh3By-4) d) 2y-DH3By-4)
The solutions of 3x2 +7x—-20=0 are
a) x:—4’x:§ b))C:—S,)C:i
3 3
) x:4,x=—§ d) x=5x=—i
3 3
The solution of 3x=1) = x5_ 2 is
2 7
a) x=— b) x=—
) 7 ) 2
7 11
c) x=— d) x=—
) 11 ) 7
. . ) 2x=3y=17
The solutions of the simultaneous equations are
=3x+y=-7
a) x=-1,y=2 b) x=2,y=-1
c) x=-2,y=1 d) x=Ly=-2
The coefficient of mt in the expansion of (m+3¢)(5t—3m) is
a) -9 b) -5
c) -3 d) —4



m2—2m—15;_m2—6m+8

11. The simplification of :
m? +2m—35 m?+3m—28

18

2) m-—3 b) m+3
0 m+?2 d) m-—2
m-—3 m+3

12. The simplification of —~— — — > =
x—4 x+4
2
a) SX b) 2; Sx
x2-16 2 -16
2
C) w d) 28)C
x°—16 x“-16

2 2
13. The simplification of /X T12, *¥" =81

x2—6x—27 x2+2x—8

2) x—2 b) x+2
x+9 x—9
0 x+9 d) x—9
x—2 x+2

14. Transpose the formula a(5¢+2)="7¢+3 to make ¢ the subject :

2) t:3—2a b)t=5a_7
Sa-7 3-2a
0 t:2—3a d)t=2a_3
a—>5 Sa-7
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The Solutions of the equation X% +5x-2=0 are

-5+417 S5t17
a x=——m"o b) x=
2 2
5++/33 -5++33
C) X = > d) x:T

If Lzm(h—w), and f=20,tr=5 m=2 and w=7. Then the value of &=
t

a) 9 b) 11
¢ 8 d) 7

The number 39 in binary system is equal
a) 100101 b) 100111
c) 110101 d) 10110

The binary number 1011011 in decimal system is equal
a) 87 b) 59
c) 91 d) 19

The subtraction of the following two binary numbers 1110110—-1101=
a) 110101 b) 101001
c) 1101001 d) 110110

The multiplication of the following two binary numbers 101101x1001 =
a) 11101011 b) 11010101
c) 110001101 d) 110010101



